	Paper:
	Science X Summative Assessment Term I Sample Paper - 1

	Total marks of the paper:
	90

	Total time of the paper:
	3.5 hrs

	General Instructions:

1. The question paper comprises of two sections, A and B you are to attempt both the sections.

2. All questions are compulsory. 

3. There is no overall choice. However, internal choice has been provided in all the three questions of five marks category. Only one option in such question is to be attempted. 

4. All questions to section A and all questions of section B are to be attempted separately. 

5. Question numbers 1 to 3 in section A are mark questions. These are to be answered in one word or one sentence. 

6. Question numbers 4 to 7 are two marks questions, to be answered in about 30 words. 

7. Question number 8 to 19 is three mark questions, to be answered in about 50 words. 

8. Question number 20 to 24 are five mark questions, to be answered in about 70 words. 

9. Question numbers 25 to 42 in section B are multiple choice questions based on practical skills. Each question is a one mark question. You are choosing one most appropriate response out of the four provided to you. 

10. An addition 15 minutes time has been allotted to read this question paper only.


	

	Questions:

	


	1] 
	A non-metal X exists in two different forms Y and Z. Y is the hardest natural substance, whereas Z is a good conductor of electricity. Identify Y and Z.
	[Marks:1]

	
	
	

	
	
	

	2] 
	What is the minimum resistance which can be made using five resistors each of 1/5 [image: image1.png]


?
	[Marks:1]

	
	
	

	
	
	

	3] 
	When is lactic acid formed in our muscles?
	[Marks:2]

	
	
	

	
	
	

	4] 
	What is Plaster of Paris? How it is obtained from Gypsum. Write chemical reaction. Give its one use.
	[Marks:2]

	
	
	

	
	
	

	5] 
	A solution of potassium chloride when mixed with silver nitrate solution, an insoluble white substance is formed. Write the chemical reaction involved and also mention the type of the chemical reaction?
	[Marks:2]

	
	
	

	
	
	

	6] 
	Two green plants are kept separately in oxygen free containers, one in the dark and the other in continuous light. Which one will live longer? Give reasons.
	[Marks:2]

	
	
	

	
	
	

	7] 
	Three 2[image: image2.png]


 resistors, A, B and C, are connected as shown in Figure. Each of them dissipates energy and can withstand a maximum power of 18 W without melting. Find the maximum current that flow through the three resistors.





[image: image3.jpg]



	[Marks:3]

	
	
	

	
	
	

	8] 
	Give the events that occur during photosynthesis.

	[Marks:3]

	
	
	

	
	
	

	9] 
	Describe the steps involved in reflex action.
	[Marks:3]

	
	
	

	
	
	

	10] 
	Write chemical equations for the reactions taking place when 

(i) zinc sulphide is heated in air

(ii) calcination of zinc carbonate is done

(iii) when manganese dioxide is heated with aluminium powder
	[Marks:3]

	
	
	

	
	
	

	11] 
	(a) Why do we store silver chloride in dark coloured bottles?


(b) How does slaked lime is prepared from calcium oxide.
	[Marks:3]

	
	
	

	
	
	

	12] 
	Write the balanced chemical equations for the following reactions:

(a)
Sodium carbonate on reaction with hydrochloric acid in equal molar concentrations gives sodium chloride and sodium hydrogen carbonate.

(b)
Sodium hydrogen carbonate on reaction with hydrochloric acid gives sodium chloride and liberates carbon dioxide.
	[Marks:3]

	
	
	

	
	
	

	13] 
	A student prepared solutions of (i) an acid and (ii) a base in two separate beakers. She forgot to label the solutions and litmus paper is not available in the laboratory. Since both the solutions are colourless, how will she distinguish between the two?
	[Marks:3]

	
	
	

	
	
	

	14] 
	What happens at the synapse between two neurons?
	[Marks:3]

	
	
	

	
	
	

	15] 
	(a)
How much current will an electric bulb draw a 220V source if the bulb filament is 1200[image: image4.png]


?











(b)
How much current will an electric heater draw from a 220V source if the resistance of the heater is 100[image: image5.png]


 ?
	[Marks:3]

	
	
	

	
	
	

	16] 
	Name various plant hormones. Give one function of each.
	[Marks:3]

	
	
	

	
	
	

	17] 
	What does the direction of thumb indicate in the right-hand thumb rule? In what way this rule is different from Fleming's left hand rule?
	[Marks:3]

	
	
	

	
	
	

	18] 
	What is biomass? Explain the principle and working of a biogas plant using a labeled schematic diagram.
	[Marks:3]

	
	
	

	
	
	

	19] 
	(a) Why does a current carrying conductor kept in a magnetic field experience force? On what factors does the direction of this force depend? Name and state the rule used for determination of direction of this force.







(b) A magnetic compass shows a deflection when placed near a current carrying wire. How will the deflection of the compass get affected if the current in the wire is increased? Support your answer with a reason.






OR

(a) What is the function of an earth wire? Why is it necessary to earth metallic appliances?

(b) Two circular coils A and B are placed closed to each other. If the current in the coil A is changed, will some current be induced in the coil B? Give reason. 
	[Marks:5]

	
	
	

	
	
	

	20] 
	(a) Salt A commonly used in bakery products on heating gets converted into another salt B which itself is used for removal of hardness of water a gas C is evolved. The gas C when passed through lime water turns it milky. Identify A, B and C. 

(b) Write any two uses of bleaching powder

OR

(a) Write word equations and then balanced equations for the reaction taking place when –

(i) dilute sulphuric acid reacts with zinc granules.

(ii) dilute hydrochloric acid reacts with magnesium ribbon.

(b) What is a neutralisation reaction?

(c) Give two important uses of washing soda.
	[Marks:5]

	
	
	

	
	
	

	21] 
	(a)
Write the electron dot structures for sodium magnesium and oxygen.



(b)
Show the formation of Na2O and MgO by transfer of electrons.


(c)
What are the ions present in these compounds.


(d)
Why do ionic compounds have high melting point.







OR


Give reason:

(a) Platinum, gold and silver are used to make jewellery.

(b) Aluminium is a highly reactive metal, yet it is used to make utensils for cooking.

(c) Reaction of nitric acid with metals generally does not evolve hydrogen gas.

(d) Carbonate and sulphide ores are usually converted into oxides during the process of extraction.

(e) Copper is used to make hot water tanks and not steel (an alloy of iron).
	[Marks:5]

	
	
	

	
	
	

	22] 
	Find out the following in the electric circuit given in Figure.





(a)
Effective resistance of two 8 [image: image6.png]


resistors in the combination.


(b)
Current flowing through 4[image: image7.png]


 resistors.


(c)
Potential difference across 4[image: image8.png]


 resistance.


(d)
Power dissipated in 4[image: image9.png]


resistor.


(e)
Difference in ammeter readings, if any.




[image: image10.jpg]xa









OR

A current of 1 ampere flows in a series circuit containing an electric lamp and a conductor of 5[image: image11.png]


 when connected to a 10 v battery. Calculate the resistance of the electric lamp. Now if a resistance of 10[image: image12.png]


 is connected in parallel with this series combination, what change (if any) in current flowing through 5[image: image13.png]


 conductor and potential difference across the lamp will take place? Give reason. Draw circuit diagram.
	[Marks:5]

	
	
	

	
	
	

	23] 
	Draw the diagram of alimentary canal of man and label the following parts:


· Mouth

· Oesophagus

· Stomach

· Intestine

Where do carbohydrates, proteins and fats get digested in human beings?





OR

What is the advantage of having four chambered heart? Support your answer with a diagram of the section of a human heart.
	[Marks:5]

	
	
	

	
	
	

	24] 
	To study the dependence of current (I) on the potential difference (V) across a resistor R, two students used the two set ups shown in figure A and B respectively. They kept the contact point J in four different marked, (a), (b), (c), (d) in the two figures
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For the two students the ammeter and voltmeter reading will be maximum when the contact J is in the position:
	[Marks:1]

	
	A.

(d)
in both the set ups

B.

(a)
in both the set ups

C.

(a)
in set up A and (d) in set up B

D.

(d)
in set up A and (a) in set up B


	

	
	
	

	25] 
	The pH values of distilled water, fruit juice and sodium bicarbonate were measured using pH papers. What is the correct decreasing order of pH values
	[Marks:1]

	
	A.

Water > Fruit juice > Sodium bicarbonate

B.

Fruit juice > Water > Sodium bicarbonate

C.

Water > Sodium bicarbonate > Fruit juice

D.

Sodium bicarbonate > Water > Fruit juice


	

	
	
	

	26] 
	In an experiment to test the pH, of a given sample using pH paper, four students recorded the following observations.




Sample taken.


pH paper colour turned to.

(I) Water



Green

(II) Dil. HCl


Red

(III) Dil. NaOH


Blue

(IV) Dil. Acetic acid

Orange

Which one will have pH value of 7?
	[Marks:1]

	
	A.

II

B.

III

C.

IV

D.

I


	

	
	
	

	27] 
	A student performed the starch test on a leaf. Some steps involved are shown below.
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The correct sequence of steps should be:
	[Marks:1]


	
	A.

D,
C,
B,
A

B.

A,
B,
C,
D

C.

B,
C,
D,
A

D.

A,
C,
D,
B


	

	
	
	

	28] 
	Four students studied reactions of zinc and sodium carbonate with dilute hydrochloric acid and dilute sodium hydroxide solutions and presented their results as follows. The '√' represents evolution of gas whereas 'X' represents absence of any reaction,
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The right set of observations is that of student
	[Marks:1]

	
	A.

B

B.

C

C.

D

D.

A


	

	
	
	

	29] 
	A sample of soil is mixed with water and allowed to settle. The clear supernatant solution turns the pH paper yellowish-orange. Which of the following would change the colour of this pH paper to greenish-blue?
	[Marks:1]

	
	A.

Lemon juice

B.

Vinegar

C.

Common salt

D.

An antacid


	

	
	
	

	30] 
	Which one is not observed when aluminium is added to solution of copper sulphate?
	[Marks:1]

	
	A.

The solution is blue in the beginning

B.

The final solution becomes colourless

C.

A brown mass is deposited on the surface of Aluminium

D.

The final solution becomes light green


	

	
	
	

	31] 
	A more reactive metal displaces a less reactive metal from the aqueous solution of the latter. From the following sets tell which one represents a correct picture of both the possible (√) reactions and impossible (x) reactions between metals and the solutions of different salts.
	[Marks:1]

	
	A.

Metal

Al2(SO4)3

CuSO4

FeSO4

(b) Cu

√

x

X

B.

Metal

Al2(SO4)3

CuSO4

FeSO4

(c) Fe

√

√

X

C.

Metal

Al2(SO4)3

CuSO4

FeSO4

ZnSO4

(d) Zn

x

√

X

√

D.

Metal

Al2(SO4)3

CuSO4

FeSO4

(a) Al

x

√

√


	

	
	
	

	32] 
	In the experiment on finding the equivalent resistance of two resistors connected in parallel three students connected the Voltmeter in their circuits in the three ways X, Y and Z shown here.











[image: image17.jpg]



The voltmeter has been correctly connected in.
	[Marks:1]

	
	A.

cases X and Y only

B.

cases Y and Z only

C.

cases Z and X only

D.

all the three cases


	

	
	
	

	33] 
	Identify the circuit (Figure) in which the electrical components have been properly connected.












[image: image18.jpg]
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	[Marks:1]

	
	A.

(i)

B.

(iii)

C.

(iv)

D.

(ii)


	

	
	
	

	34] 
	The rest positions of the needles in a milliammeter and voltmeter when not being used in a circuit are as shown in the figure. The zero error and 'least count' of these two instruments are.












[image: image20.jpg]



	[Marks:1]

	
	A.

(+4mA, -0.2V) and (1mA, 0.1V) respectively

B.

(+4mA, -0.2V) and (2mA, 0.2V) respectively

C.

(-4mA, +0.2V) and (2mA, 0.2V) respectively

D.

(-4mA, +0.2V) and (2mA, 0.1V) respectively


	

	
	
	

	35] 
	Two students (A) and (B) connect their two given resistors R1 and R2 in the manners shown below.











[image: image21.jpg]



Student A connects the terminals marked b1 and c1 while student B connects the terminals marked d2 and c2 in their respective circuits at the points marked X and Y.


[image: image22.jpg]



Which one of the following is correct in relation to above arrangement
	[Marks:1]

	
	A.

both the students will determine the equivalent resistance of the series combination of the two resistors

B.

both the students will determine the equivalent resistance of the parallel combination of the two resistors.

C.

Student A will determine the equivalent resistance of the parallel combination while student B will determine the equivalent resistance of the series combination of the two resistors.

D.

Student A will determine the equivalent resistance of series combination while student B will determine the equivalent resistance of parallel combination of the two resistors


	

	
	
	

	36] 
	A well stained leaf peel preparation when focused under high power of the microscope would, show

	[Marks:1]

	
	A.

epidermal cells, stomata, guard cell with many nuclei and one chloroplast cell

B.

stomata, and guard cells without nuclei or chloroplasts

C.

Stomata, but no guard cells or epidermal cells

D.

epidermal cells, stomata, guard cells each with one nucleus and many chloroplasts


	

	
	
	

	37] 
	A student draws the following sketch of stomatal apparatus the part I, II, III and IV are labeled differently by four students.







[image: image23.jpg]=
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The correct labeling out of the following is
	[Marks:1]

	
	A.

I 
Guard cell

II 
stoma

III
starchgranule

IV
nucleus

B.

I
Guard cell

II
starch granule

III
Nucleus

IV
stoma

C.

I
cytoplasm

II
chloroplast

III
stoma


IV
nucleus

D.

I
Cytoplasm

II
nucleus

III
stoma


IV
chloroplast


	

	
	
	

	38] 
	Given below are four different set ups to show that CO2 is released during respiration.

[image: image24.jpg]



	[Marks:1]

	
	A.

A

B.

B

C.

D

D.

C


	

	
	
	

	39] 
	What is the use of KOH solution in this experiment?





[image: image25.jpg]



	[Marks:1]

	
	A.

Absorbs O2 released by germinating seeds

B.

Absorbs moisture released by the seeds

C.

None of these

D.

Absorbs CO2 released by germinating seeds


	

	
	
	

	40] 
	To observe cells in an onion peel, we must prepare the slide by mounting on it:
	[Marks:1]

	
	A.

Crushed pulp of onion

B.

Dry scale leaf

C.

Green leaf of onion

D.

Thin layer of fleshy leaf of onion


	

	
	
	

	41] 
	B1, B2 and B3 are three identical bulbs connected as shown in the Figure. When all the three bulbs glow, a current of 3A is recorded by the ammeter A.


(i) What happens to the glow of the other two bulbs when the bulb B1 gets fused?

[image: image26.jpg]4.5V




	[Marks:1]

	
	A.

B2 gets dimmer and B3 glows brighter

B.

B3 gets dimmer and B2glows brighter

C.

B3 and B2 both will glow more

D.

The glow of the bulbs B2 and B3 will remain the same
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	Solutions:

	


	1] 
	Y – Diamond and Z – Graphite
	

	
	
	
	

	2] 
	1/25[image: image27.png]




	

	
	
	
	

	3] 
	Sometimes there is a lack of oxygen in our muscle cells hence the pyruvate breaks down to form lactic acid which builds up in our muscles during sudden activity and causes cramps.
	

	
	
	
	

	4] 
	Plaster of Paris is calcium sulphate hemihydrates. It is obtained by heating gypsum
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Uses:- (1)
Plastering fractured bones

(2)
statues, toys etc.
	

	
	
	
	

	5] 
	[image: image29.png]KCl (ag) + AgNO3 (aq) — AgClsy + KNO3(ag)





It is a double displacement and precipitation reaction.

	

	
	
	
	

	6] 
	Plant kept in continuous light will live longer, because it will be able to produce oxygen required for its respiration by the process of photosynthesis.
	

	
	
	
	

	7] 
	Maximum current through resistor [image: image30.png]


A = 3A



Thus the maximum current through resistors B and C each [image: image31.png]3xla=1ss
3




	

	
	
	
	

	8] 
	The following events occur during photosynthesis:
(i) Absorption of light energy by chlorophyll.


(ii) Conversion of light energy to chemical energy and splitting of water molecules into hydrogen and oxygen.



(iii) Reduction of carbon dioxide to carbohydrates
	

	
	
	
	

	9] 
	The steps involved in reflex action are:
(i) Receptors receive the stimulus
(ii) Nerve cells takes the stimulus, converts it into electrical signal and passes it through sensory nerve.



(iii) The impulse passes through spinal cord where it gets transmitted through relay neuron and it passes further through motor neuron to the effector organ, i.e. muscles.
	

	
	
	
	

	10] 
	[image: image32.png]2205 + 30, —Reasting
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[image: image33.png]3MNO,(S) + 48l(s) ——3Mn(1) + 281,04(s) + Heat




	

	
	
	
	

	11] 
	(a) Silver chloride on exposure to sunlight may decompose as per the following reaction.
[image: image34.png]2AgCl =+ 2Ag + Cly




Therefore, it is stored in dark coloured bottles.
(b) Calcium oxide reacts vigorously with water to produce slaked lime (calcium hydroxide) releasing a large amount of heat
	

	
	
	
	

	12] 
	(a)
[image: image35.png]NapCO3 + HCl —+ NaCl + NaHCO3




(b)
[image: image36.png]NaHCO3 + HCl — NaCl + HpO + CO2




	

	
	
	
	

	13] 
	In absence of litmus paper a reagent phenolphthalein can be used. The solution which gets pink colour with phenolphthalein is base other is acid.
	

	
	
	
	

	14] 
	A stimulus received by a neuron travels through it in the form of an electrochemical disturbance. When an electrical signal reaches the axonal end of one neuron, it releases chemical substance called neurotransmitter that cross the synapse and move towards the dendritic end of next neuron generating another electrical singal. A narrow fluid filled space, called synaptic cleft occurs between the two neurons. An impulse travels through the neurons only in one direction because the neurotransmitter releases only on one side of the synapse.
	

	
	
	
	

	15] 
	(a)

[image: image37.png]R = 12000, vV =220volt
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(b)
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	16] 
	The various plant hormones are auxin, gibberellin, cytokinin and abscisic acid. Functions of plant hormones:
(a)
Auxin - It helps the cells to grow longer at shoot tips.






(b)
Gibberellin – Growth of stem.







(c)
Cytokinin – Promotes cell division.







(d)
Abscisic acid – Inhibits growth in plants
	

	
	
	
	

	17] 
	The thumb in right hand rule indicates the direction of current in the straight conductor held by curled fingers, whereas the Fleming's left-hand rule gives the direction of force experienced by current carrying conductor placed in an external magnetic field.
	

	
	
	
	

	18] 
	Hints – Biomass: Plant and animal wastes. Give description of biogas plant with the following diagram.
[image: image39.png]= Biogas outlet
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	19] 
	(a)A current carrying conductor produces a magnetic field around it. When it interacts with magnetic field it experiences a force. Direction of the force depends upon direction of current and that of magnetic field.






Fleming's left hand rule. State the rule. 
(b)The deflection will increase. As the magnetic field produced around the conductor is proportional to the current flowing through the wire.







OR
a) The earth wire, which has insulation of green colour, is
usually connected to a metal plate deep in the earth near the house.
This is used as a safety measure, especially for those appliances that
have a metallic body, for example, electric press, toaster, table fan,
refrigerator, etc. The metallic body is connected to the earth wire, which
provides a low-resistance conducting path for the current. Thus, it
ensures that any leakage of current to the metallic body of the appliance
keeps its potential to that of the earth, and the user may not get a severe
electric shock. 







b) due to electromagnetic induction, there would be change in the magnetic field around the coil A and so will be around B . So current will be induced in coil B. 
	

	
	
	
	

	20] 
	(a) Baking powder (NaHCO3), salt A is commonly used in bakery products. On heating it forms sodium carbonate (Na2CO3), B and CO2 gas, C is evolved. When CO2 gas is passed through lime water it forms calcium carbonate (CaCO3), which is slightly soluble in water making it milky.






A – NaHCO3







B – Na2CO3
C – CO2 gas
(b) Bleaching powder is used –
(i) for bleaching wood pulp in paper factories.
(ii) for disinfecting drinking water to make it free of germs.



OR
(a) (i) Sulphuric acid + Zinc [image: image40.png]


Zinc sulphate + Hydrogen H2SO4 (aq) + Zn(s) [image: image41.png]


ZnSO4 (aq) + H2 (g) (ii) Hydrochloric acid + Magnesium [image: image42.png]


Magnesium chloride + Hydrogen 2HCl (aq) + Mg (s) [image: image43.png]


MgCl2 (aq) + H2 (g)




(b) A reaction in which an acid and base react with each other to give a salt and water is termed as neutralisation reaction. In this reaction, energy is evolved in the form of heat.









(c) Uses of washing soda:-
(i) Sodium carbonate (washing soda) is used in glass, soap and paper industries.
(ii) It is used in the manufacture of sodium compounds such as borax.
	

	
	
	
	

	21] 
	(a)
[image: image44.jpg]Na. Hg: o














(b)
[image: image45.jpg]





(c)
Na+ cation, Mg+2 cation O-2 anion





(d)
Strong inter ionic attraction.









OR

(a) 
Noble, highly malleable, ductile shinglustre



(b)
Forms a protective layer of aluminium oxide



(c)
Strong oxidizing agent oxides H2 to H2O




(d)
Easy to reduce metallic oxide to metal



(e)
Good conductor of heat, Non corrosive.
	

	
	
	
	

	22] 
	(a)
[image: image46.png]savine-p = cfafe (228
Ry +R2)











(b)
[image: image47.png]1A Hint











(c)
4V. Hint – V = IR = [image: image48.png]


= 4V







(d)
No difference.











Hint – Same current flows through each element in a series circuit.




OR

Current carrying loops behave like bar magnets and both have their associated lines of field. This modifies the already existing earth's magnetic field and a deflection result. Magnetic field has both direction and magnitude. Magnetic field lines emerge from N-pole and enter Spole. The magnetic field strength is represented diagrammatically by the degree of closeness of the field lines. Field lines cannot cross each other as two values of net field at a single point cannot exist. Only one value a unique net value, can exist. If in a given region, lines of field are shown to be parallel and equispaced, the field is understood to be uniform.



[image: image49.jpg]



	

	
	
	
	

	23] 
	(a)
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(b) The digestion of carbohydrates (starch) starts in the mouth. The saliva has salivary amylase or ptyalin enzyme which acts on the starch and converts it into maltose sugar. The partially digested food reaches the stomach where the food gets mixed with gastric juice secreted by gastric glands. The gastric juice contains large quantities of mucus, HCl and pepsin. The enzyme pepsin acts on proteins and coverts them into peptones and proteoses. The gastric lipase emulsifies fats.
Bile juice secreted from liver lipids into small droplets.
Pancreas secretes pancreatic juice which contains the pancreatic amylase, trypsin and lipase. Pancreatic amylase digests the leftover starches into maltose. Trypsin converts peptones and proteoses into small peptides. Lipase acts on small droplets and converts them into triglycerides.
The food reaches the small intestine where complete digestion of food takes place in the presence of an enzyme called succus entericus. The maltose converts into glucose, peptide emulsifies into amino acids and the triglycerides emulsifies into fatty acids and glycerol.








[
OR
(a) In four chambered heart, left half is completely separated from right half by septa.This prevents oxygenated and deoxygenated blood from mixing. This allows a highly efficient supply of oxygenated blood to all parts of the body. This is useful in animals that have energy needs, such as birds and mammals.


(b)

[image: image51.jpg]











	

	
	
	
	

	24] 
	(d)
in set up A and (a) in set up B
	

	
	
	
	

	25] 
	Sodium bicarbonate > Water > Fruit juice
	

	
	
	
	

	26] 
	I
	

	
	
	
	

	27] 
	A,
C,
D,
B
	

	
	
	
	

	28] 
	A
	

	
	
	
	

	29] 
	An antacid
	

	
	
	
	

	30] 
	The final solution becomes light green
	

	
	
	
	

	31] 
	Metal
Al2(SO4)3
CuSO4
FeSO4
(a) Al
x
?
?

	

	
	
	
	

	32] 
	all the three cases
	

	
	
	
	

	33] 
	(ii)
	

	
	
	
	

	34] 
	(-4mA, +0.2V) and (2mA, 0.1V) respectively
	

	
	
	
	

	35] 
	Student A will determine the equivalent resistance of series combination while student B will determine the equivalent resistance of parallel combination of the two resistors
	

	
	
	
	

	36] 
	epidermal cells, stomata, guard cells each with one nucleus and many chloroplasts
	

	
	
	
	

	37] 
	I
Cytoplasm

II
nucleus
III
stoma


IV
chloroplast
	

	
	
	
	

	38] 
	[image: image52.jpg]



	

	
	
	
	

	39] 
	Absorbs CO2 released by germinating seeds
	

	
	
	
	

	40] 
	Thin layer of fleshy leaf of onion
	

	
	
	
	

	41] 
	The glow of the bulbs B2 and B3 will remain the same
	

	
	
	
	


